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No. of Questfons : 170

weT & wem : 170
Time : 2 Hours | [ Full Marks : 450
HY 2 H0E] [ qoTfE: 450
Instruction :
fader :

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under ; _

T8 Y0 Fgfaredla wel g anenfa @ aen & @t (1 qen 1D ¥ Ry & S
fr <t aftfer 2 -

(a) Section - I consists of 130 Objective Type Questions on General Awareness,
Current Affairs, Common Legal Knowledge, Aptitude and Mental Ability.
wvE - 1§ 130 sgfecin v wmy 9, ol Ryal wmrn Afs
AT, el va AR droar w smRa #

(b} Section — I consists of 20 Objective Type Questions on (I) English
Language and (i) Hindi Language.
WS - I 4 20 Sgfweda aw 1) oD AW ik () R Wi @ W W
et #)

A candidate is required to attempt as man}; questions as he/she can of Section-
I, and Questions on ANY ONE of the TWO Language papers (I} English OR
(I Hindi in Section - I1.

el ¥ il B 6 @vS ~ 1 on |vs - 11 B (D) st T () R oy 5 B
AT 9w ) g B

Note/TIe: (1) Answer a8 many questions as you can. Bach question carries 3 (Three)

marks. One mark will be deducted Jor eack incorrect answer. Zero
mark will be awarded for each unattempted question.

SRFMRS T B g o @1 e AR | wdE ge 3 () siai
%lmmaﬂ?%‘ﬂ??ﬁﬁmmmﬁmwmw
TS AP

(1) P.T.0
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(2) 1f more than one alternabive answers seem to be approximate to the
correcl answert, choose the closest one.

A TEe At SR @d ok @ Pee wde # 1 fmead 6l
I ¢

{3) FEach question is followed bv Four alternative answers {1), (2), (3) and
(4). Only one of these answers is correct. Select the correct answer anc
record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer-Sheet, as per guidelines.
viie ye @ OR Tetes s gee m o R, @), @) 3 W
cidat W =i T ¥ T A Bed T g f wel 3| §E IR @
aﬁﬁqawaﬂfﬁw}ﬂﬁw-ﬁﬁﬂaﬂmﬂwrﬁm? EERHE L
I ga (mers) T 9 wigve A R HTel Hed g |

SECTION -1
gqrg — |

1. The H.C.F. of two numbers is 11 and their L.C M. is 7700. If one of the number
i5 275, then the other is
=Y e @7 Fodovo 11 2 &l T Hedavo 77U 2| PR TH e 275 &, A

TN R &t
(1) 279 (2) 283 (3) 308 (4) 318
2. The sum of two numbers is 528 and their H.C.F. is 33. The number of such pairs
1 -
= weanalf @7 AnT 528 € ¥ 9Am Howelo 1N 9E Ee A e E
(1) 2 {2) 3 (3) 4 4) 5

3. The largest number which divides 27147 and 252 to leave the same remainder

in each case is:
agar@m%rﬁﬁ??m?mﬁzﬁm:sﬂﬁﬁﬁm‘sﬁmnﬂ‘fﬁq—cﬁﬁmﬁm

2 gz e ¢
(1} 9 (2) 35 (3) 25 (4 35

4. What is the least number which when divided by 5,6, 8,9, 12 gives remainder 1
in each case and is completely divisible by 132 |
gz - B WEl %.WS;ﬁ&?fﬂﬁﬁﬂﬂﬂcﬂ#mﬁﬁmﬁ 3| 9 v
%#ﬁ?aﬁlﬁ%tg‘m@ﬁm@m%? | »
(1) 36l (2) 721 (3) 1801 (4) 3601
| (2)
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5. A boy was asked to multiply a number by 12. By mistake he multiplied the
number by 21 and got his answer 63 more than the correct answer. The number
was :- '

UF Teh BN, U6 @ T 12 A T T & ford BT W | o) § g% 99 TE@w
B 21 F PN AT &1 SN W SR F 63 6w wwrer o On & W 9w
wEY - | : .
1) 7 @8 (3) 9 4) 12

8. Ram went to a shop to buy 50 kg of rice. He buys.two varieties of rice which
cost him Rs. 4.50 per kg and Rs. 5 pet kg. He spends a total of Rs. 240, What
was the quantity of cheaper rice bought by him ? :
(1) 20kg  (2) kg (3) 30kg (4) 40kg -
TR T3 THE W 50 R Wae w09 7| 9% ) weR @ T@e @dedr & oG

4.5&@@%-%@5@%%[%'@%&%@@%
21 O o B aren R ae @ ?

(1) 208 (2) 25 e (3) 30 s (4) 40 fara

7. How many digits are required for numhering the pages of a book having 300
pages ?
300 g2t Ft g B gl B geied ey ¥ Pre it o) smavaar 2 & 0
(1) 299 {2) 492 (3) 780 (1) 7ao

8. A man purchased 147 stamps of 60-paise and 35-paise. The total amotnt he
spent was Rs. 68.20. How many 35-paise stamps were purchased by him ?
UF 21 7 60 Y ol 35 4 @ 147 weim US| 9 ¥ W 68.20 Yo G &Y |
9 35 % B fad win wde ? o
(1) 60 B ) R (3) 76 (4) 80

9. Price of 5 chairs and 2 tables is Rs. 1350. Two chairs cost as much as one table.
What is the price of one chair and one table ?
(1) Rs.350 (2) Rs: 430
{3) Rs. 300 (4) Rs. 550

ﬂméswﬁm-mﬁqﬁﬂ@%ﬁmwwm%ﬁmﬁrw
< T Y T B ey & 2 -

(1) 350 59 (2) 450 T
(3) 500 vwd (4)- 550 Ty

(3)
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10.

11,

12.

13.

14,

The average of all add numbers uplo 1001s :
100 & @ 76 ¥ § @y dwmst o ated £
(1) 51 (2) 50 (3) 495 (4) 49

The average of 100 numbers is 44. The average of these 100 numbers and four
other new numbers is 50, The average of the four new numbers will be :

100 st Fr ated 44 2197 100 3t o #R o gE Sl w7 3T 50 &1 TR
T ol &1 ST 8

(1) 8OO (2) 200 (3) 176 (4) 24

The average age of 5 members of a committee is the same as it was 3 years ago,
because an old member has been replaced by a new member. The difference
between the ages of old and new member is:

(1) 2years . (2) 4 years (3) 8}'&3{5 (4) 15 years
mmﬁwﬁﬂﬂmﬁqﬁwﬁﬁmﬁ%aﬁwwwaﬁsmﬂﬁﬁ
aﬁmmgmﬁ@ﬁﬁﬁaﬁfﬁﬁaﬁwﬂmwmmﬂﬁmﬁ

=9 % T R 8 7
(1) 2= (2) 49 (3) 8T (4) 15 a8

Average of 15 numbers is 7. Qut of them, the average of first 8 numbers is 605
and the average of last 8 numbers is 9.5. The middle numbers is :

15 <l & A 7 &) G @ e 8 el 1 ohem 605 & iR 3ifE 8 o
s 9.5 8, o me W@ @
(1) 21 (2) 22 @) 23 @ 21
The average of 50 numbers is-28. 1f two numbers, namely 25 and 35 are
discarded, then the average of the remaining numbers is nearly :
5qu'waﬁaﬂa?raﬁ23%1 a1 SET 25 &N 55 @ gEr <) ¥ a1 9 el
1 Sl g
(1) 27.29 | {2y 2792 {3y 29.27 (4) 29.72

[4)
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15.  Three-fourth of a number is more than two-third of the number by 5. The

16.

17.

i8.

18,

number is :
T e B @ ord sue @ Red § 5 sim warar & oY 98w & ¢
(1) 72 (2) 62 (3) 84 (4) 48

A number is as much greater than 22 as is less than 72. Then the number is :
Wmnﬁﬁﬁﬁﬁnﬁ%ﬁﬁﬁmﬁw,ﬁﬂ%ﬁwér

(1) 47 - (2) 50 (3 52 (4) 104

The sum of two numbers is 29 and the difference of their squares is 145. The
difference between the numbers is :
aﬂmmﬁmmﬂzeﬁﬁhmﬁwmrwiﬁél'mmmﬁé’mﬁw
(1) 13 2 5 (3) 8 4) 11

Two numbers are less than a third number by 30% and 37% respectively. How
muich percent is the second numbser less than the first ?

< et AR wem § mm 30% sik 37% @ GO W) T el | (o
wfoer @&n By ? m

(1) 0% - (2) 15% (3) 20% (4) 25%

If the price of eraser is reduced by 25%, a person can buy 2 more erasers for a
rupee. How many erasers are available for a rupee ?

amwﬁmzﬁwﬁmmmﬁmﬁﬂwwﬁawmﬁﬁﬁmm
G wwdl B UF w0l ¥ e W e # ? -

(1) 8 (2} 6 (3} 4 4) 2
A-number is first increased by 20% and then reduced by 20%. What would be
the percentage change in theswumber ?

(1) 0% (2} 2% decrease -
(3) 4% decrease . {4) 4% ineraage

wﬁwﬁ%ﬂmmmmﬁsﬁ?ﬁiﬂuﬁmm 3
wom ¥ o o awam o

(1) 0% @ 2% %
(3) 4% & (4) 4% e

(8)
P.T.0.
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21.

22,

23.

24,

An ore contains 12% copper. How many kg of ore are required to get 69 kg of
copper ?

(1) 424 kg (2) 575kg (3) 828kg (4) 1736 kg
o ¥ 12wl dfar ¥ 69 Sl dfar wer e & Ry B Rl sies B
S e 7

(1) 424 fball (2) 575 fFar (3) 828 Frett (4} 1736 (&=ii

A man sells an article at a loss of 10%. If he bought it at 20% less and sold it for

Rs. 55 more, l{hen he could have gained 40%. What 1s the cost price of the article ?
(1) Rs.200 (2) Rs.225 (3) Rs.250 t4) Rs.270

e @ UH A 10 ufes w4 dwer g O a8 20 uferee o ¥l
di 80 T wTRT # AT 2, o oW 40 wRieR @1 ST e 8| 9 I¥ & e
FTE ?

(1) 20093 () 225 %1 (3) 250 T (4) 270 59

A man sells tea at 10% profit and uses a weight which i8 20% less than the
actual measure. His gain percent is : |
wauﬁamui%mgm%%wmérﬂ%‘aﬂ?mﬁﬁzﬁmﬁm e A
o T SRS BT &, A S gArh BT gfyerd A

(1) 30% (2) 35% (3) 37.50% (4) 39%

A shopkeeper bought pens at the rate of 8 pens for Rs, 34 and sold them at 12

pens for Rs. 57. The number of pens, that he should sell to have a profil of

Rs. 900, must be :
wwﬁaﬁﬁymﬁaﬁﬁﬁm%@ﬁ 12 99 57 0 o) 7% @ Jar &
ﬁqﬂuﬂﬁﬁww?ﬁm&ﬁﬁﬁﬁaﬁugw

(1) 1400 (2) 1600 (3 1800 (@) 2000
(8)
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6 men and & boys can do a piece of work in 10 days while 26 men and 48 boys
finish it in 2 days. 15 men and 20 boys will finish it in :

() 4 days (2) 5days (3) 6days  (4) 7days

6 T0¥ 3IX 8 wSF T B P 10 B § 9% wEd & Tl 26 7OV ofN 48 wed
2fem & qof et &1 15 qow afiv 20 7103 BT ) fve R % of 90 ?

(1) 4f&= () 5R 3) 6f2w (4) 7R

A car covers four successive 3 km stretches at 10 km/hr, 20 km/hr, 30 km/hr
and 60 km/hr respectively. Its average speed over this distance is -
(1) 10km/hr (2) 20km/hr
(3) 25 km/hr ' (4) 30 ke /hr
¥ B A ey & ar ga w10 feerier ofver 20 R
wieeer, SDmﬁmmmmﬁﬂﬁaMﬁwmﬁ?rwaﬂ*ﬁ
T ¥ ol iy 2

(1} 10 freleiex uftvier (2) 20 fariier gfteer
(3) 25 fdrfier wforeer (&y-sofreilizy wfyger

A train without stoppages-travels at the 7afe 0f .20 km/hr and with stoppages it
travels at 45 km/hr. How many minutes does the train stop on an average per
hour ?

{1) 5 minutes (2) 6 minutes (3) Switwates . (4) 10 minutes

U Y e awRE B 50 RAder wftnier ¥ siv sewai 3 T 45 Rroniey
Hﬁmﬁm%lwmﬂﬁwﬁﬁﬁnﬁmmﬁ%?

(1) 5= 2)-gfF @) 8fre (4) 10

The total cost of flooring a room at Rs. 8,50 per square meter i Rs, 510. If the
length of the manth is :

(1) 75m (@) 85m (3) 105 m ‘m 12‘5'm
wmc%WWB%WE@WMmWWWE
R B s § e 8 G TN et o - . LT
(1) 759 @ 5% (3) 105 e 8 1259

| (7)

PY.0.
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29, If the radius of a circle is increased by 6%, then its area is increased by :
SR G g & Weme B 6 vRve g R W, o gt game e T 2
(1) D.36% {2) 3.6% (3) 12.36% (4) 36%

30. The length of a rope by which a cow must be tethered in order (hat it may be
able to graze an area of 9856 m? is

(1) 56 m (2) 64 m {3) B8 m (1) 1a8 m
v ma @) Rt wE ) @ d ) R o 98hh mt @ e H AT @
T g w7 | |
(1} 56 #rew (7) 64 Hicy (3) 88 #Mew (4) 168 MR
31.  The earth is at the largest distance from the sun on
(1) June21* @) January 3"
(3) July 4™ {4} September 23"
oAt W o P we s qf) W A # 7
(1) 2151 = (2) 3 FTE WY
(3) 4 ufond B (4} 23 Ryerra? F

82. Which of the following is an example of Midlatiijtide desert 7

(1) Sahara desert {?) Arabian desert
(3) Thar desert (4) Patagonia desert
frer § Q Sl g e &7 IR # 7
(1) TERT wou (2) AT AR
(3) AR FHH : (4) e weqH
33. Molten rock below the surface of the earth is called :
(1) Basalt (7} Laccolith (3) Lava (4) Magma
Tﬂaﬁm%ﬂﬁwﬁﬁﬂmlﬁmﬁ%? |
(1) HTHTeET (2) wiiITer] (3) = (&) T
| g s  i5 the longest ?
 the following rivers, which one 15 est @
* 5mn§:$a;ari (2) Krishna (3) Mahanadi (4) Narmada
o 3 A R T 7
a?m—lﬂaﬁ (2) P90 (3) "R R
(1

(8)
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Diesel locomotives are manufactured af -

(1} Kapurthala ' (2} Perambur
(3) Varanasi ' (4) Jamshedpur
W ® e §oI &7 ST et Bk %7

(1) wyRerem (2) "I

(3) arRe) o (4) TERgR

The special paper required for printing of currency notes by the Security Presses
in the cotintry in manufactured at: |

(1) ‘Hyderabad = . (2) Kolkata

{3) Hoshangabad (4) Dewas

Mﬁa!}ﬂ W%_Wmﬁﬁﬁrﬁ T w7 Fer A El e gy & ?
(1) v _ @) PEHEr

(3) ErirmETE (4) 3R

The central banking functions in India are performed by the .

(1) Central Bank (2) State Bank of India
(3) Reserve Bank of Indig "~ {4) Both(2)and (3)
'ﬁ‘ﬂﬁ%ﬂﬁ?ﬁiﬁ%ﬁﬁ;‘m}am%w%?

(1) 9 ¥ @) we ¥F aifs P
(3) Rerd & aiip g (4) St (2) el (3) 2

The existence of a Parallel Economy of Black Noney :
(1) Makes the economy more competitive

(2) Makes the monetary policies less effective

(3} Ensures a better distribution of income and wealth
(4) Ensures increasing productive investment -

B B TR Sdaen 1 diae -

(1) viefarawen B wret GV ond &

(2) Mfiw A B w2

(3) s o o & JER R F ERRee Tt &

(4} W#maﬁﬁﬁﬁﬂﬁ Tt B

[E) PTO.
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39,

40.

41.

43.

- The 'Uruguay Round' negotiations resulted in the establishment of -

(1) NATO ' (2) OECD

@) WHO @) WIO

| W@mzﬁaﬁﬁa}qﬁumwﬁmaﬁmgé?
{1} THo To o o (2) a0 go o &
(3) S=ge Yo Ao (4) s=yo <o 3o

Who among the following was the Constitutional adviser to the Constituent
Assembly of India ?

(1) DeBNRao (2) DrBR Ambedkar
(3} KM Munshi ' (4) M C Setalvad

e B SREE 0 @ P ¥ § we wuE waeen o 7

(1) Slo o o T (2) €fo dlo aRke ST EH
(3) @o [Ho I . (4) o Ho drawdrs
India became a Sovereign democratic republic on!

(1) Aug. 151947 (2) TJan. 30,1948

(3) Jan. 26, 1950 (4) Nov.26, 1929

WIeE e WA el eE TR g 7 :

(1) 15 30T, 1947 @I (2) 30 SFEY, 1948
(3) 26 ST, 1950 * (1) 26 AaR, 1929 B

Which Schedule of the Constitution of India contains special provisions for the
administration and control of Scheduled Areas in several States ?

(1} Third () Fifth ~ (3) Seventh (4) Ninth
wﬁaﬂﬁuﬁ=ﬁﬁmmﬁﬁﬁﬁﬁﬂmﬁﬁ.aﬁﬁauﬁv$wm
P W=l ey maer B 7

(1) g @ dadl (@) vl @) T
Indian Constitution recognises minorities on the basis of :

(1) religion (2) caste (3) population (4) colour
qﬂﬁmﬂﬁmﬁmﬂﬁﬁmmfﬁmﬁmmé?

(1) &9 (2) wfer (3) wrEEm (4) ¥

(10}
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Under which Article of the Constitution is the President's Rule promulgated on
any State in India ?

W#ﬁma@aaﬂmmﬁﬁrmﬁwﬁwmmmm
27
(1} 356 (2) 352 - (3) 360 (4) 370

Which of the following appointments is #ot made by the President of India ?

(1) Speaker of the Lok Sabha (2) Chief Justice of India
(3). Ciﬁef of the Air Force (4) Chief of tﬁe Army
ﬁﬁﬁ‘ﬂﬁ?—ﬁﬁgﬁﬂmﬁﬁmlm 7 & o @ 7

(1) drEaT F1 e (2) W &7 gET
3) Tave @1 gft | 4) ‘o T gRwm

The members of the Rajya Sabha are elected by :
(1) indirectly

(2) mostly nominated

(3) directly as well as indirectly

(4) the members of the Legislative Assemblies and Legls]atwe Councils of State
VST & el BT g Er |

A1) sveay fatem gra

2) OERR T gR

- (3) Iy T4 vy fatew gw

(4) vt B Rt R o aRee & weRl TR
The time ga'p hémhmﬁﬂﬁlom of the Parﬁmt _sI_nuuld not exceed

@ 3months @) 6mONths  (3) Imonths ) 1 yeqy

e @ A W B A BT I P wrar 78 e i

M) 3md @ETI @ emw L
(1)

PTO.
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48.

0.

51.

52.

Who appoints the Governor of Jammu and Kashmir ?
(1) Chief Minister of the State

(2) Chief Justice of the High Court of the State

(3) President

{4) Prime Minister

g @ o & gl B e 8 7
(1) T & & 7R

() I F T UMTCRT 1 HEH AR

(3) T
(4) TETHA

The Congress lost its monopoly of power in the States for the first time after the
elections of :

ﬁmgam%mwwmﬁmﬁwﬂﬁﬁﬁﬂﬂ?ﬁm?
(1) 1967 (2) 1971 @97 @198

Which one of the following Amendments of the Constitution of India deals
with the issue of strengthening of the Panchayati Raj ? X

el \
(1) 42" (2) 44% (3} 73 (4) 86

P 1] P TRYM @ S dardRe § ggde & g @ W

#7?

(1) 4240 (2) d4dt (3) 7391 (4) 86

Indian Conshitubion was amended [or the first time in:
e wifgurT § oRaT W 64 g 7
(1) 1930 (2) 1951 (3) 1952 (4) 1953

Which of the following Constitutional Amendments banned the floor crossing

in the Partiament ?

1y a2 Q) 4 ) 52 @ 53
;}r 3 e e CCIE R g |ag # qoeE W e w7
" @) 44 (3) 5 @ s3

)

(12)
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Directions (For Q. Nos. 53 te 62) ; In the questions given below are two stalements
labeled as Assertion (A) and Reason (R). In the context of the two statements, select
the correct answer l.g using the codes given below statement :

fader (7o wo 53

62 @ forg) : P well ¥ & v, T WM (Y) o gEw @

(BR) o w31 39 < Fud & wof § v M Ry T gE w1 v e gy wd
IR F 7999 g

53.

Assertion (A) : The power of amendment under Article 368 does not include
the power to alter the basic structure of the Constitution,

Reason R):  The right to equality does not form part of basic structure of
the Constitution. ;

Codes: :

(1)} Both'A'and 'R'are true and 'R is the correct explanation of 'A".

(2) Both 'A’ and 'R’ are true-but 'R’ is not the correct explanation of 'A .
(3) "A'is true but R’ is false, - '

(4) 'A'is false but 'R’ is true.

TSI (1) : e 368 @ wew v < widw § i o gm @ deee
& afda mite o4 &)

BRT () WO BT FTSR GG B g I @ v ¥

@:

(1) ¢ oflt o g7 WY € iR oR v W 2 |

(2) T IR A S WE ¥ AFE aw v ® ud wefever T8 2

(3) T WEl & R AN e B

(4) T Td § o W wd E

Assertion (A): The territory of India is larger than the territories of the States
Reason (R):  India is a Union of States.

Codes : _ :

(1) Both'A'and R’ are true and 'R’ is the correck explanation of ‘A’

(2) Beth "A" and 'R’ are true but 'R’ is not the correct explanation of ‘A’
(3) 'A'is truze but 'R’ is false.' '
(4) 'A'is false but 'R’ is true.

' Wqu:ﬂﬁﬁﬁlﬂ:ﬁﬁmﬂmﬁéﬁgﬂﬂﬁ-ﬁmﬁWﬂ%|

FROT (HAR) : TR I @] T
L T4
(1) ‘T AR AR Eﬁfm‘ﬁﬁm*ﬁ{ vﬁmmﬁm%r :
(zj_n'm'am’gﬁmﬁ%%amq-WW@W%%I
(3) T AR AR e & -
@) "7 T ¥ T A WY

- (13)

| PTo
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55. Assertion (A) : The President of India is not a part of Parliament.

Reason (R): A bill passed by the [louses of Parliament cannot become law

without President's assent.
Codes

(1) Both'A'and 'R’ are true and R’ is the correct explanation of "A’.
(2) Both 'A’ and 'R’ are true but 'R' is not the correct explanation of 'A'.
(3) 'A’is true but 'R’ is false. '
(4) 'A'is false but R' is true.
WIS () @ WRA @ Ul e & A6 A6 B
W(m:ma%ﬂﬁgmmﬁﬁﬁaﬂﬁ;ﬁaﬁﬁwﬁ?ﬁrﬁwﬁﬁ
Hedl |
HE
(1) T AR AR 2 wd # ek R v E A W
(2) ¢t o 2t W # afe e g &7 8 TR el € |
(3) T Wh & FH R T 8|
() T o ? wfEH aw W )

56. Assertion (A) : The judges of a High Court cannot be transferred.
Reason (R): The independence of the judges of High Courts is sought to be
maintained by the Constitution.
Codes:
(1) Both'A'and 'R’ are true and R' is the correct explanation of 'A'.
(2) Both ‘A" and R are true but 'R’ is not the correct explanation of "A’.
(3y 'A'is true but 'R’ is false.
(4) ‘A is false bul 'R is true.
e (@) ¢ o =grarert @ =il F e 4 o 9ed |
F (m}:ﬁﬁﬂﬁamﬂﬁmﬁa?mmﬁmﬁﬁwaﬁmm
: e & |

T o g A e E AR AR T @ EE W 2
@) T R I 2Fi TR ¥ A e T A1 T W @ P
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§57. Assertion (A) : India is a democratic republic.
Reason (R): The Head of the State is elected directly by the people.
Codes ;
(1) Both'A'and R’ are true and R’ is the correct explanation of 'A’.
(2} Both A’ and R’ are true but R’ is not the correct explanation of 'A'.
(3) 'A'is true but 'R’ is false.
(4) 'A’is false but 'R’ is true.
WA (Q) : AT U@ TS ded 2
BRE (@) 2 I P ReA AT Frer D g e &
TE
(1) T AN IR ol AR T T E) g 3
(@) T IR o A E S v e e 8 2
3) T v & W A e .
(4) T Tera & f ame wd #

58.  Assertion (A) ; Dry battery cannot be recharged.
Reason (R): The chemical reaction is reversible.
Codes: '
(1) Both'A’and 'R are true and 'R’ is the correct explanation of ‘A"
(2) Both 'A’ and R’ are true but 'R' is- not the correct explanation of 'A'.
(3) 'A'is true but 'R’ is false.
(4) "A'is false’but 'R’ is true.
W (@) e dTd gaant ol & o wedt
I (BR) : amEtE S wfdemdy 2
LA '
(1) v sl o A # o aw v e e 8
(2) 7 3R IR A A E AT R T B o e a2
(3) T WA 2 af g Ty
(4) T e @ AT ar wé d

59. Assertion (A): Ventilators are provided near the roof,
Reason (R}: Conduction takes place better near the roof.
Codes :'
(1) Both'A' and 'R’ are true and 'R 13 the correct explanation o £A
(2) Both 'A' and ‘Rigee-#up but R' is not.the, Qorrect explanation of ‘Al
(3) 'A'is true but R’ is false. ;
(4) 'A’is false but R is true.

(15
PIO:
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80.

61.

WG (T) ¢ BT B 91 ey ¥ 9 B

P (AR) : T B GHC Treda Hwd) TeE § SR B

Elg?: .

(1) "¢ aite e S wd # @R WR T H ey TS 2 |

(2) T &y ey & v £ Al W T W e Wt TE E
(3) T wh & afp SR T B

(4) T TEE ¥ o wR W oE

Assertion (A) £Tt is easier to start a car engine on a warm day thanon a chilly day.

Reason (R): The internal resistance of a car battery increases with increase in
temperature.

Codes : '

(1) Both'A'and 'R' are true and 'R’ is the correct explanation of ‘A"

(2) Both 'A' and 'R’ are true but R' is not the correct explanation of 'A’

(3 A" s true but R is false.

{4} "A'is false but 'R'1s true.

e (5) : T fR 3 B g 93 e A gor H T F S R

SR (FR) : TR ETh B Fralke iR (T T @ T B OWH-T

TgaT £ :

m;c ;

v 3R R o ud # R AR T B W E

{2) v AR AR e O ¥ A AR T @l Wl Tl A8 8

(3) ‘¢ W & wleT oR T € '

(4) T e B TS N W B

Assertion (A) : Nitrogen is increasing in the atmosphere.

Reason (R): Plants need nitrogen for their growth.

Codes:

(1) Both ‘A’ and 'R’ are true and 'R'1s ﬂ}e correct explanation of 'A".

(2) Both A’ and ‘R’ are true l;ut 'R is not the correct explanation of 'A'.
@) 'Aistre put 'R’ is false,

(4) 'A'1S false but T'18 frue,

(16)



17U/103/31(Set - 1)

YR (3) : A § AEEeT 4% 7 2
ﬁﬁw{m:rﬁﬁﬁaﬁmaﬂ‘mﬁl@aﬁﬂﬁﬁy

E'::v.-_,":

(1) Taﬁ?'mw*aﬁ:ﬁﬂﬁram'm_rrmﬂﬁmwi!
(D) TR R D ¥ ;M e T ) e A R
3) T W & A I o &

(@) ¢ e & @ g wd &

. Assertion (A) : Long distanee radio broadrasts use short wave bands.
R-easun {R): The ionosphere reflects waves in these bands.

Codes: ‘

(1) Both'A'and 'R’ are true and 'R’ is the correct explanation of 'A".

{2) Both ‘A’ and R’ are true but R' is not the correct explanation of ‘A",
(3) A'is true but 'R’ is false. "

(4) "A’is false but 'R’ is true.

e (§) : vt g0 @ IR sfswne o 49 Y5 w1 SR ad &
TRV (@) + 57 Fou 4 AgnreR da 77 sk wwar @

Re |

(1) T 3l ‘s 2t Ol § oiR e v el wosdie 2

(2) T Al a2 E o e Tl R T 2

(3) T WA & AT WX 1o §)

(4) T Terr ¥ AT R W |

Dishonour of a ;:heque is an offence under the :

(1) Negotiable Instruments Act, 1881  (2) Indian Contract Act, 1872

{3) Code of Criminal Procedure, 1973 {(4) Indian Penal Code

U B SR SR E, gpeerhen -

(h wwra foem offam, 1881 3 () wwha Rt sifagy, 1870 &
(3) <% wlpan R, 1973 @ (4) e € e

(17) PTO.
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64. When a Court sends someone in judicial custody, then it means that a person is:

65.

66.

67.

(1) Sent to jail

(2} Sent to police lockup

(3) Senthome under judicial proteclions
(4) None of these

W ey e ot =fie afiren # S g o zus ared 8 &
(1) oter %o oy W &

(2) yfere Earera H ®or Rur o #

(3) it e @ st BR N e e &

(@) 7% A oE @ ‘

Which Courts in India are empowered to issue writs as provided in the
Constitution of India ? _

(1) Supreme Court (2) High Courts

(3) District Courts {4) Only (1) and (2)
cﬁw%w?aﬁﬂﬁﬁﬁmw% e 3 Bt =marerdt B Re il /R @
o afem e ?

(1) wares =™ (2) Se A
(3) fren =nary () @Ta (1) &R (2)

Which one of the following polymeric materials is used for making bullet proof
jacket ?

(1) Nylon 6.6 . (2} Rayon

(3) Keviar : (4) Dacron

A 79 &y Hiﬁ’ﬁﬁﬁﬂﬁﬁﬂﬂﬁlﬁmﬂ{cﬁdﬁtﬁ?ﬁtaﬁﬁﬁﬁm wr g ?
(1) -ga 6.6 : (2) =

(3) Seeit (4) EH

Where is Salar Jung Museum situated ?

(1) liyderabad (2} Jaipur (3) Lucknow (4) Mumbai

TR T SOIIER el Rem 8 7
(1) wavdi (2) VR (3) TS @) T
(18)
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68. Who among the following wrote "The Communist Manifesto" along with Karl

69.

?ﬂ.

T1:

Marx ?

(1) Emile Durkheim ' (2} Friedrich Engels
(3) RobettOwen © (4) Max Weber
A3 ferem et et @ ey “§ wegre APk fowdt ?
(1) s guty | (2) BeRe voe

13) g S {4) Fwa I

Who was the first Indian woman to swim across the English Channel ?
(1) Shanta Rangaswami (2) Arati Saha

(3) Santosh Yadav _ (4) Kamaljit Sandhu
mmﬁmmwm@mmmmm
(1) wfar ST (2) s @ |
(3) vl g (4) FHerof gy
How much is one barrel of oil approximately equal t6 7

(1) 131 liters - (2) 159 liters

{3) 257 liters S (4) 321 liters.

P IR g w0 e B R g & ?

(1) 131 #fex : ¢ (2) 159 #flex

(3) 257 ¥ex (4) 321 #re”

The Chairman and ofher members.of a State Public Service Commission shall
be appointed by the :

(1) President

(2) Governor of the State

(3) State Public Service Commission itself

(4) Union mmcmgsinn _ ,

I F A A B A i et e R gRr P s S 2

Q) STy

(2) T & ST
(3) o 3w AT AT g
(4) <u S A T

(19) PYO
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72,

73.

4.

75.

78,

Who is known as the father of International Law ?

(1) Austin (2) Oppenheim

{3} Bentham (4) Grotus

srentedi e & R oS sgamr 8 7

(1) ¥ (2) SREs

(3) o (4) Mo

Theoty of Social Engineering is given by :

{1) Duguit (2) Ehtlich (3) Pound (4) Ihering
TSR Attt @ Qg e fam v o

(1) (2) weferd (3) s (4) FERT

The essentials of a valid custom does net include :

(1) Consistency ' (2) Obligatory force

(3) Unreasonablehess 4y Al of the above

Feost % § @i-w WG g @ sneend T A Wi T8 ¢ ?

(1) sfamd (2) BT T

(3) ergfeRgaT (&) ww R

The opposite of liberty is :

(1) duty (2) noclaim (3) . disability (4) slavery
W F A e

(1) Sud (2) T aorH (3) S 4) T

The word Tort' is of :

(1) French origin (2) Roman origin

(3) Latin ﬁrigin {(4) Commonwealth origin
EIEH 'g“]ﬁr' & I g: .

(1) W 9T (2) I I |

fﬁ] Em%.:[ Gﬂ'l’m l:‘h W&I J2TH

(20)
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78.

- 79,

Which one of the following is net a libel ?

{1) A defamatory matter in prinﬂng Or Writing
(2) 'Taking' cinematograph film

(3) Signs or pictures

(4) Sounds or gestures

et % & S Ao T R ?

(1) O g3 Sror e T TR Ry
(2) R e w1 g9 |
(3) THT T ®ier

(4) eafat spmr gg-wie

The essential ingredients of a crime are ;
(1) motive, mens rea, and actus reus

(2) motive, intenton and knowledge

(3} actus reus and mens rea

(1) knowledge, intention and action
U & HAIE 7ed &

(1) &g, sroriers ARl ofi 2wgef o
(2) ¥q s aiie

(3) 2ot F1d IR noE Ay

(4) ==, s o &M

The word 'Insligate’ means :

17UA03/31(Set - 1)

(1) to cheat | (2} todo unlawful acp
(3) to provoke (4) to promote |
THFFET 7w w7 et B
(1) o T - @) AT SR w0y
(3) weFF {4y S Ry

(21)

PTo



17UM103/31(Set - )

80, Otence of theld is related to s
) mwvaple property only
i) properiy only
Al wT s T wrafa & 7
(1} 3% oo wwfy |

(3 s wmafy &

(2) immovable property only

(4) All of the above

2y E ama waky |
(4) Iude ot ®

81. Which of the following is used as a lubricant in heavy machines 7

i1} Bauxite

{3 Craphiiv

(2} Phosphorus
(4} Silicon oil

1 3 i weiEY @ Soun @ o BEs e B 7

{1y diedEge

(3) dwIEC

(2) WIEHIE
(4) Fferte atger

8% I'ne filament of a haldgen lamp is an alloy of ;

(1) Tunpsten and icdime

3 T ungsten and sodium

(2) Tungsten and bromine

(4) Molybdenum and sodium

gare dprg @1 o= Prer # ¥ fare Brsarg &1 8T € 7

4y TTEES T4 AT

v gRET 39 eI

(2) <wea wd WA

(4) HfafeT vd feuw

g83. Furo Norms place limits on the amount of an emission of a gas in automoebiles.

The gasis:

(11 Carbon dioxide
(3) Nilrogen
i
) SERIEAES
(3) AEERTI

(2) Carbon monoxide
(4) Methane

eI

(1) T AT
[4) o=



87.

17U/103/31(Set - 1)

The softest mineral, Talc (Soap stone) is mainly :

(1) Manganese silicate (2) Sodium silicate
(3) Sodium phosphate (4) Magnesium silicate
sfemm afiw Eew (G wm) e §
(1) #rier Richade (2) Hfeaw Reeiae
(3) difegy wige (4) ¥R Reiee
Correct order of colours in a rainbow is ;
(1) Blue, green, violet (2) Violet, green, blue
(3} Blue, yellow, green (4) Blue, green, yellow
Fugy & ¥ & e
(1) e, &, i (2) G, T A
(3) e, G, (4) e, v, en
Which of the following fights with infection in the body ?
(1) R.B.C (2) W.B.C.
(3) Blood plasma {4) Hemoglobin
WR # 59 # A FR-ar wmar ¥ gary e wwar & ?
(1} IRo flo o~ (2) T=go dio Ho
(3) T &A= (4 WrafE
The pair of rivers draining into the Black Sea, ia :
(1) Volga - Danube. ‘ (2) Dnieper - Volga
(3} Dnieper - Dniester (4) Ural- Volga
Fel WR Ay Al w8 §E
(1) 9T - ¥ | 2) I - Qe
(3) R - AR @) o - A
Kwanto plain is in .
(1} China (2) Cambodia (3} New Zealand (4) Japan
o) do R dw 4 2, B 8
) B Q) R (3) Eiive )
(23) |

P.T.0.
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83.

91.

92,

Kandhar is Tocated in :

(1}. Southern Afghanistaﬁ (2) Noithern Afghanistan.
(3) Eastern Iraq {(4) Western Pakistan
HAT fRem 3

(1) =@l srmnfRem # (2) sudr s |

(3) @ B W (4) ufEd o A
"Zulu’ 1s a tribe associated with @

(1) New Zealand {2) South Africa
(3} Zimbabwe (4) Mexico

e T S 3, R wem e @ R 22

(1) =gehevs (2) afror amprE

(3) o (4) e

Who amongst the f{)ch.-ing first used the word 'Swaraj' and accepted Hindi as

the national language 7

(1) Raja Ram Mohan Roy " (2) Swami Dayanand

(3) Swaim Yivehanand (4) Bal Gangadhar Tilak

Brer & 3 frg =P & wdvem TR we @t wan R ofR faedl @1 e
HIA ¢

(1) <l X A xl (2) @F TTET

(3) ward A= (4) I AR f0EE

'‘Gireen Revolution’ means :

(1) Use of green manure (2) Grow more crops
(3) High yield variefy programme (4) Green vegetation
g it O AT 8

(1) =& @ & g (2) SR e I
3 <73 SR W ‘iﬂ]l";[ _ (4) ECUICR MY

(24)



93.

95!

97.

17U/103/31(Set - 1)

Iron is obtained from :

(1) Limestone (2) Pitch-blende

(3) Monozoite sand (4) Hematite

A Rree wia fawr o & 9w 2

(1) ¥ 1 T @) fre-zs

(3) HriraTge W (4) e

Which one of the following is a fruit ?

(1) Potato {2) Radish

(3) Lady's Finger (4). Sweet potato
FeidSdmw @ ma e ?

(1) smeg | (2) qot

(3) frodt (4) wEwHe

The unit of electrical resistance of a conductor is !

(1) Farad (2) Volt '(3) Ampere (4) Ohm
e o Jga AR P g & -

(1) wRIE (2) diee (3) fgmx (4) 3w

Study of friction and Iubrication is :

(1) Cryogenics (2) Selenology (3) Horology (4) Tribology
0T qd wew BT e § .

(1) PRmfEE (2 e (3) BN (4), TTEaIh
Suez Canal connects :

(1 Black Sea - Red Sea

(2) Black Sea - MeditersuteutBes

(3) Red Sea - Mediterranean Sea

(4) Black Sea - Gtilf OF Sisaiey

W T e sed 8, 7§

(1) FTH AR — T

{Z) A AR~ YR

(3) T I — AT

() e T — W A T

(25)
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o8.

99.

100.

101.

102.

103.

Days and nights occur due to :
(1) earth's revolution

(3) inclination of the earth's axis
v {9 Fm e €, a8
(1) L ReH

(3) T & 8T P g
'‘Bibi-ka-Makbara' was built by :

(1) Humayun (2) Shahjehan
A T @ fote o

(1) gy, (2) TETEl

Chilka Lake is _5ituated at:
{1) Karmnataka Coast’

- (3) Konkan Coast

ﬁﬁﬂgﬁﬂﬁﬁﬁ‘@ﬁﬁ._ﬁ%:
(1) F=icE Te
(3) TiFo a

Measles disease is caused by
(1y Virus

(3) Bactena

ey 3 A g 2

(1) e W

(3) o] ®

(2) earth’s rotation

{4) moon's revolution

(2) -ARuA
(4) =T T GREAT

(3) Akbarll (4) Aurangzeb

(3) Imee fgdd (4 SRR

{2} Malabar Coast |
(4) Uttari Sarkar Coast

(2) WEER T
(4) IO WIR 7T

(2) Fungi
(4) Mycoplasma

Which one of the following is a true fish ?

(1) Gtar fish (@) Jelly fish

(3) Hag fish {4) Sea horse

imqﬁfimﬁmﬁﬁrﬂmm?mﬁ%?

(1) wr (2) St s

(3) & (4) g B

Underground "Euro-tunnel’ constructed for the fast running trains joins :

(1) Holland and England
(3) Belgium and Holland

(26)

(2) England and France
(4) France and Luxembourg



104.

105.

106.

107.

17UN03/31(Set - 1)

cerTRfl Yot & R At wffma @gé gm e A 2w

(1) wrefs @ 37efs (2) Fefe w@ wiy

(3) e vd wcle (4) Wiw Ud cgoiHee

The number of already known bones in the human skeleton is :

T BT ¥ A T T e F e &

(1) 280 (2) 200 (3) 220 (4) 206

The atmosphere is a mixture of several gases, Near the earth surface it contains
mainly :

(1) Nitrogen and Oxygen .

(2) Nitrogen and Carbon dioxide

(3) Oxygen and Carbon digxide’

(4) Ethaneand Oxygen

TLTET L TOR A A @ Brwor & 7 2| gedt @ ot e o
Tt el 2

(1} reghorT wd sifeeflor

2) TEESA W Fde seitaaTse

(3) dtavr vd ST srgsitREE

(4) 399 Ug 3fedior
Light year is the Unit of ;
(1) Distance ' (2) TFime
(3) Age (4) Intensity of light
v ot 3o § | |
HgE@|aH (2) w9 i
(3) g @t . (4) ey @t dlaar #
In a Wick Stove, Kﬂtﬂain&m:ip the wick due o -
(1) Osmosis " (2) Diffusion
(3) Surface Tension (4) Plasmolysis
T T T A SR W T w7 e 1
(1) weor . - (2) farer
(3) g% T d (4) Aezages

{27)
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108. Who was the first Governor-General of India ?

(1) Robert Clive {2) Warren Hastings

(3) Lord Mayo (4) Lord Dalhousie

HRE ® HIH TR R o

(1) fae Fomgg (@) @ R

(3) <ifs &= (4) @ seErar
108, Apiculture is the scientific method related to the production of :

(1) Honey (2} silk 3) Apple (4) Lac

e T deTiw R ¥ o e s § el 87

(1) =g (2) e (3) (4) &
110.  Abnormal Weather-conditions presently prevailing in India are attributed to :

(1) Ozone-hole (2) Air-potlution

(3) El-Nino (4) Tropical Cyclones

e & qebrr ) orer AR srenalt @ (g SeRar @

(1) I (2) TEHTT

(3) s (4) TwiEHeTHT TEHa

111, How many nitmbers of Upanishads who are also known as the Vedantas ?
wﬁﬁﬁﬂqﬂfﬁmﬂ%ﬁmﬁwﬁﬁaﬁm%:

(1) 96 (2) 105 (3) 108 (4) 112
112, The phrase - The Light of Asia’ - is applied to : |

(1) Alexander (2) Chandragupta Maurya

{3) Mahavira (4) Buddha

W — ‘ATEe &tw TRAT — faaes ford v fan o & 7

(1) QI (2) "wre AR

(3) WA . s
113, According t© the Buddhists, who is believed to be the next incarnation of

' Gautam Buddha ? ,

1) Atrey? (2) Maitreya (3) Nagarjuna  (4) Kalki

iz Hmﬁm%g%@wﬁ;

(1) & (2) (3) =R (&) weh

(28)
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114, Who among the following was 4 great ruler ol Kalinga in ancient times ?

(1} Ajatasatru ; (2) Bindusara
(3) Kharaveia | _ (4) * Mayu:asa;'nan
ST B 4 P A A B BRAT BT TEr A o 7
(1) STy (2) fagonr
(3) W (4) R
115. In which century r;iid Ashoka reign ?
(1) Second Century B.C. (2) Third Century B.C.
(3) Second Century A.D, (4) Third Century A.I).
IS # e |& # s fpay 7
(1) ffgwdidogo (2) FEi W o go
(3) e wd dadt (4) gy wdt Sud
116. Saka era was founded by : f
(1) Ashoka {(2) Harsha (3} Kawiahie, (4) Vikramaditya
I B BT T [ ) 7
(1) arirs 2) = () Hfw (4) faEmfae

117, Decimal system was introduced by ; .
() Aryabhatta  (2) Brahmagupta (3) Bhaskara  (4) Kayfilya

A (TIHEE) Tore R i o 7
{1 amiﬂtt (2) s&rw (3) v | (4) B
118. Which of the following was tilm:]br source of royal income in, medieval north
India ?
(1) Jaziyah (2) Kharaj (3) Zakat 4) Khan,
Py # F S99 TADTAN I AR § 377l T IR Wiy o
(1) s (2) & (3) (4) 5

{29)
PTo.
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119. Mughal dynasty was to Bahadur Shah Zafar as Lodi dynasty was to :

(1) Bahalol Lodi (2) Daulat Khan Lodi

(3} Tbrahim Lodi (4) Sikandar Lodi

ﬂﬁwmwmm$%ﬁﬁﬁaﬁﬂmw&1ﬁm?

(1) sESe ey (2) drerd @ E@d

(3 gargn =y _ (4) Fre=x &k
120. Kabir was the disciple of :

{1) Chaitanya ' (2} Shankaracharya

(3) Ramananda {4y Vallabhacharya

S fohe Ry 9 7

(1) I54 () wEwar

(3) EES (4) oo
191. The difference between the local value and face value of 6 in. the numeral

586723 is:

586723 =A% i 6@ Wiy Ay R B ey B g F =R B

(1} 723 {2) 6717 (3) 5994 (4) 7483
122. The unit digit in (584 x 428 x 667 x 213) is ;

(564 x 428 x 667 x 213) 4 ofae RRfve &) &

mz2 @3 (3 4 (4) 5
123. 7589 -7 =3434

(1) 11023 (2) 4245 (3) 4155 (4) 11123
124, 5358 %517

3 2 ,
(1) 273268 (2) 273258 (3) 273348 (4) 273358
o4 =7
195, 106106747 o
(2) 2000 (3) 1904 (4) 1906
(1) 2400

(30)
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126. If % of 0% of a number is 36, the number js :

Wwﬁm%ﬁﬁumw% T 36 8, o ag e wel

(1) 100 (2} 80 {3) 75 (4) 9u
127. Theﬁ:stprimenuml;erig;

Tgq ARfNE W &

(1) 0 2} 1 3) 2 . 143

128., The largest four digit number exactly divisible by each of 12,15, 18 and 27 is. .
R ST @ T 4 W W 12, 15, 1897 279 ke 4 Bty 9, au
(1) 9690 (2) 9720 {% 992) 14Y 996N

129, Ina question ‘::m division with zero remainder, a candidate took 12 us Jiviees
instead of 21. The quotient obtained by him was 35. The correet quotiont is :
TH WET o ol 9 3 R F oo, K 21 & 98 12 @1 favesae] 6 L
ST R ORI | ST WG 35 STey g | WE AR v, 7
(1) 0 {2) 12 (3) 13 (4) 20

130. L.C.M. of 22,54,108,135,198 is :
22,54, 108, 135, 198 &7 @oHolo B
(1} 330 {2) 1980 | (3) 5940 {4) 11880

SECTION - Nl
Either
English Languagg,
Note : Four alternatives e giwem.ag pocgible answers o each Juestion, i
cerrect choice as an answer. ve the

Direction (Q. Nos. 131 t0-238) ; Select the word neqregt in meaning to 4h» S0t g :
PRI

181, Fastened: . o
(1) Speed @ i85y 8) Thed 4) Quiei

P.T.0.
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132. Curbed:

(1) Controlled 2) Round (3) Tum (4) Fear
133. Merely:

(1) Miserly (2) Nearly (3) Poorly {4} Only

Direction ((). Nes. 134 to 136) : Soleck the word which is opposite in meaning fo the given
word

134. Advanced :
(1) Syllabus (2) Rough (3) Study {4) Elementary

135. Ancient:
(1) New (2} Modern (3) Fresh (4) Early

136. Complicated : J
(1) Simple (2) Several (3) Straight (4) Comply

Direction (Q. Nos. 137 10 139} Select the right word to fill in the blanks :

1487. 1 think that he is getting ............ . Up with the constant demands of his boss.
{1y bored (2) fed
(3} angry (4) lit
438. He decided t0 build the house from .........oeeee
(1) seratch () solids (3) one (4} beginning,
139. Wegot0 that restaurant from Ume to ..oocveseenen
) (1) oftet 2y all (3) always . (4) time

Dirvection (Q: Nps. 140 to 142} : Choose the word which can be substituted for the
"_ X

Il'ﬂdt'.ﬂ iﬂE‘Ii Il'ﬂrds i bot

looks afractive,
e cnihe wall is stunmng.
(2) good (3) soothing {4) beaunful

(32)

y the given sentences

0. (@) The @
(b) The pictit
(1) larg®
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141. (a) The show was quite hilarious.

{b) Some scenes from the movie were comical,

(1) funny {2) sad (3) engaging (4) captivating
142. (a}) Indianeed a ggbjg goverrtment,

(b) The rope that held the boat was tough.

(1) majority {2} strong " (3) good (4_} reliable
Direction (Q.Nos. 143 to 146) : The underlined part of each of the given sentences contgins
an error. Choose the option which will improve the semtence ;

143. All of a sudden it became ﬂlaud}- and beginning to rain.

(1) began (2) begun_ (3) begin = (4) isbegin
144. I tried to catch her eye but she didn't listen me. .
(1) hear @ tell (3) come {4) notice

145.  The profit was shared in the shareholders.
(1) for {2) all ~ (3) among . (4) together

146. A lifter of elephants destroyed the plants, :
(1) collective - (2) group (3) pack (4) heard

Direction (Q. Nos. 147 to 150) : In the given sentences, identity the parts of speech of the
underiined words ;

147, The plane flies above the dlouds.

(1) Noun 2) Kvers (3) Preposition  (4) Adiective
148.  She moved slowly down the aisle. -
{1) Verb (2} Preposifion  (Bjdlowmrms. {4) Adverb

149, Torun's overworked computer exploded inasfPHYoF aparics.

(1) Verb @, Adiadtize  (3) Noun (4) Adverb
150. 1have a fast car, bWﬁnd has 2 faster car. _
(1) Verb 2) Adfectie {3)=Mpermer: @ Advers
(33)
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SECTION=II
gus -l
OR
el

A= AmEr

Ay« Prfafes we 3 (1), (), () 7o (&) Fi5 3 TR i I R T
Rl & o1 oo & wd &) 90 @ I A R

151, m%ﬁrﬁﬂmgmﬁ?ﬂ@@mﬁﬁﬁ??

(1) sl A L (2) iRfes T

(3) FIBIOME T : {4) "FF {9
152, Mireh s e wrt X Tl R 7 |

(1) 5@ o=l (2) Teerdy S (3) T (4) @i
153. = feew ﬁmrﬁm &) Hfid WEIT B T

(1) 1437w (2) 14 Ry (3) 14 ¥R (4) 14 7E¥R
154, I%aﬁaﬁﬁ—rﬁéwm'ﬁﬁaﬁa%%ﬁaﬁ?%ﬁmﬁ?agé?

(1) 343 () 346 (3) 344 (4) 345

155, wF e ACE HIAC

(1) oA (2) ©FOI
(3) Tl (4} ST
456, I v TR #fg |
(1) frer - (2) e (@) (4) Bredlsr

(34)



157.

158.

159.

160,

161,

162,

163.

164.

185.
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wiifie g w1 999 i .
(1) sy (2) frgfes (3) wafe- (4) vfar sfag
W#wﬂm%ﬁ—w#mﬁmﬁmaﬁ%w%?

(1) s (2) farm 3) fadnyoy (4) s
o g o & 7 — arew R @ araPe R k2
(1) &0 Q) wEm (3) frérr (4) o
TS 9% ¥ B wny & 7
(1) fag ) &% (3) TRy (4) TN
arifden sfifea 8 &g @ Wl 7 wof i
(1) ReR (2) Rerd gy
(3) smrEghy (4) it
RT 97 wel, G 7w — dfi ¥ S sreew 2 7
(1) sw (2} Sen (3) vum (4) fesmasn
YT & 9 R § ?
(1) e (2) W (3) s (4) WP
Yiem e A BT e BT wd af war 7
(1) @ 4 g (2) T Fwm
(3) wared & {4) oaw & =rar
m#%ﬁwaﬁ'mﬁ%{ _
(1) wur (2) o
(3) AN e ' (4) AT Py

(35)
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166.

167.

168.

169.

170.

TERER e TN B B § ue wie oE 8 ?

(1) AR (2) e
(3) WaTTTHETE B (4) oI AR TR

Prdrar frud gr FE ST € 7

(1) asu@ (2) weiraver ]
(3) wrroeiereoT At (4) o ware fgea

o7 i e v @fd @1 SrEmTE ¥ 7

(1) sty (2) warimre e
(3) AR (4) 7THIR wETgR B

grivraTe @ WEM S o1 9 Ee-ar 8 7
(1) 1936 %o (2) 1943 go (3} 19532 %o (4) 1960 %o

<o e T i wEet @ U § 2
(1) =3 (2) STEIETY (3) wER (4) =T

{36)
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